LEXINGTON-FAYETTE URBAN COUNTY	Date:	April 18, 2023		
GOVERNMENT CONTRACT CHANGE ORDER	Project:	Town Branch Trail 6 / Manchester 8	Forbes Turn Lanes	
Page 1	Location:	Manchester St.		
o (Contractor):	Contract No.	003-2020		
L-M Asphalt Partners (dba ATS Construction)	Original Contract Amt.	\$3,854,486.96		
3009 Atkinson Ave.	Cumulative Amount of Previous Change Orders	\$1,130,977.79		
Lexington KY 40509	Percent Change - Previous Change Orders		29.34%	
	Total Contract Amount Prior to this Change Order	\$4,985,464.75		
	Change Order No.	7		
You are hereby requested to comply with the followin	g changes from the contract plan	s and specification;		
Current Ch	ange Order			
No.  Description of changes-quantities, unit prices, change in completion date, etc.	Decrease in contract price	Increase in contract price		
See Attached Sheet				
Total decrease	\$0.00	THE STATE OF THE S		
Total increase		\$238,600.00	N. 19 1. 10	
Net Amount of this Change Order	\$238,600.00	the second secon		
New Contract Amount Including this Change Order	\$5,224,064.75		1	
Percent Change - This Change Order			6.19%	
Percent Change - All Change Orders			35.53%	
The time provided for the completion in the contract and a		Il apply hereto.		
Recommended by	(Proj. Engr.) Date	4/18/23	No. of Many	
Accepted by Frian Fillings  Designator of the state of th	(Contractor) Date	5/10/2023		
Approved by	(Director) Date	15/23		
Approved by 1 lowey Which	(Commissioner) Da	te <u>5   15   23</u>		
Approved by	(Mayor or CAO) Date			

## LEXINGTON-FAYETTE URBAN COUNTY GOVERNMENT CHANGE ORDER

Change Order #: 7

DATE:

April 18, 2023

Page 2

CONTRACT #:

003-2020

Project:

Town Branch Trail 6 / Manchester & Forbes Turn Lanes

You are hereby requested to comply with the following changes from the contract plans and specifications:

14	455	Tou are nereby requested to comply with the	followir	ng change	s from the contract	ct plans and specification	ns;		
Item No.	ADD / DEL	Description of changes	Units	Quantity	Unit Price	Decrease in contract price	Inc	Increase in contract price	
701	ADD	SAWCUT	LF	3600.00	\$5.00		\$	18,000.00	
702	ADD	REMOVE/HAUL MODULAR CURB AND DELINEATORS	LS	1.00	\$35,000.00	\$ -	\$	35,000.00	
703	ADD	STANDARD HEADER CURB	LF	3600.00	\$32.00	\$ -	\$	115,200.00	
704	ADD	EMBANKMENT	CY	400.00	\$50.00	\$ -	\$	20,000.00	
705	ADD	TOPSOIL	CY	150.00	\$80.00	\$ -	\$	12,000.00	
706	ADD	PAVMENT REPAIRS	LS	1.00	\$7,500.00	\$ -	\$	7,500.00	
707	ADD	SEEDING	SY	400.00	\$4.00	\$ -	\$	1,600.00	
708	ADD	PAVE STRIPING- THERMO- 4 IN W	LF	1800.00	\$1.00	\$ -	\$	1,800.00	
709	ADD	MOBILIZATION	LS	1.00	\$7,500.00	\$ -	\$	7,500.00	
710	ADD	TRAFFIC CONTROL	LS	1.00	\$20,000.00	\$ -	\$	20,000.00	
						\$ -	\$	-	
						\$ -	\$	-	
						\$ -	\$	-	
						\$ -	\$	-	
						\$ -	\$	-	
						\$ -	\$	-	
Total d	ecrease					\$ -			
Total increase					\$	238,600.00			
Net (increase) in contract price					\$	238,600.00			

Page 3 of 3								
JUSTIFICATION FOR CHANGE		PROJECT:	Town Branch Trail 6 / Manchester & Forbes Turn Lanes					
		CONTRACT NO.	003-2020					
		CHANGE ORDER:	7					
1.	<ul> <li>Necessity for change:         To replace the existing buffer strip barriers and delineators along Manchester St. between Oliver Lewis Way and the Railroad overpass with curbs and a planting strip.     </li> </ul>							
2.	Is proposed change an alternate bid?Yes _X_No							
3.	Will proposed change alter the physical size of the project?Yes _X_No							
	If "Yes", explain.							
4.	. Effect of this change on other prime contractors: N/A							
5.	Has consent of surety been obtained?Yes _X_Not Necessary							
6.	Will this change affect expiration or extent of insurance coverage?Yes _X_No							
	If "Yes", will the policies be extended?YesNo							
7.	Effect on operation and maintenance costs: N/A							
8.	Effect on contract completion date: The completion date for the project is being extended to 1/1/2024 in accordance with the TIGER end date extension approved in Amendment No. 4.							
	Mayor Date							

## **CONTRACT HISTORY FORM**

Project Name:	Town Branc	h Trail Phase 6 / Ma	anchester & Fo	orbes Turn Lanes	
Contractor: L-M Asphalt Partners (db			Construction)		
Contract Number and Date:	003-2020	2/6/2020			
Responsible LFUCG Division:	Engineering			?	
CONTRACT AND CHANGE O  A. Original Contract Amount:  Next Lowest Bid Amount:	ORDER DET/	AILS	\$	3,854,486.96	
\$4,396,138.40  B. Amount of Selected Alternate or	Phase:		\$		
C. Cumulative Amount of All Previo	us Alternates	or Phases:			
D. Amended Contract Amount:			\$	3,854,486.96	
E. Cumulative Amount of All Previo	us Change Or	ders:	\$	1,130,977.79	29.3% (Line E / Line D)
F. Amount of This Change Order:			\$	238,600.00	6.2% (Line F / Line D)
G. Total Contract Amount:			\$	5,224,064.75	
<u>SIGNATURES</u>	101	/ AA		/ r	
Project Manager:	2 0	enn	_	Date: 4/18/23	
Reviewed by:	ellett	teer		Date: 04 19 2	23
Division Director:	1			Date: 5/15/23	>